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1. A 6.0-V battery delivers a 0.50-A current to an electric motor that is connected across its terminals.

a) What is the power consumed by the motor?

P= 058 - LV

L

b) If the motor runs for 5.0 minutes, how much electrical energy is delivered?
S ]lprr%% = 300 £=3w- 2008 (E=900J
|

a i A heater has a resistance of 10,0 Q. It operates of 120.0V
a) What is the current through the resistance?

20V="T - 100 =12/

I

b) What is the thermal energy supplied by the heater in 10.0s?

E=17RE = (137 (o) 10s)  =Cl4400 T

‘ 1_ What is the current through a 75-W lightbulb connected to a 120-V outlet?

T5W= T 120V (T = 0u25h)

*3 A 30.0-Q resistor is connected across a 60-V battery.
a) What is the current in the circuit?

bOV=T- 300 (C-2A)
b) How much energy is used by the resistor in 5.0 minutes? 5 M p LS . 3008
, \min
E= (28] 30-0)(2005) - @

i 5 The current through the starter motor of a car is 210 A. If the battery keeps 12 V across the motor, what
electrical energy is delivered to the starter in 10.0 s?

P=210A- 12V =250 W 1Us = =25 00T
D=7510W ~ i

M The current through a toaster connected to a 120-V source is 8.0 A. What power is given off by the toaster?

P= 8.0A 120V (P 900 W)
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The resistance of an electric stove element at operating temperature is 11 €2.
a) If220V are applied across it, what is the current through the stove element?

1L0V= T - L=20M”

b) How much energy does the element convert to thermal energy in 30.0 s?

E= (20 A% X 3005) =@M

A lamp draws 0.50 A from a 120-V generator.

a) How much power is delivered? A dA'hW‘ mbkm $
. ,_ - F
Prosh-wy (70D G a) Bz 0.4 kwh

b) How much energy does the lamp convert in 5.0 minutes? b) “ o, Ob

L =bO0W 300

£ 18 0o

A 4000-W clothes dryer is connected to a 220-V circuit. How muc 6) P= .Boo w ( "8 kw)
4000W =T 220V @ ¥) Edey = A KWh

E‘lodt,s = 2710 ¥Wh
A lamp is labeled 6.0 V and 12 W.
a) Wflat is the current through the lamp when it is operating? G) q lq 0 _ ‘Lf 30 *’S
2 w=T:6V T =LA)
@ ) =204
b) How much energy is supplied to the lamp in 100 seconds? » P = “oo w
E=izw 100¢ E=1200 Jj) €- 132,000 \E
A 110-V electric iron draws 3.0A of current. ' D= 0.170 kw
a) How much power is delivered? @ ‘) s: .‘.;ooc ( )
Pf‘\" | P= 330 W t= Bhr
“3.0A - V0V wh
b) How much thermal energy is developed each & = ";L K
E=, Pt Y How

E =@3ow13fwo <)
E= 1188,0007F




